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Introduction

Welcome to Writing Argumentative Essays, a unit of curriculum which aims to teach students how to write short argumentative
essays of approximately 1000 words.

The unit was prepared for students undertaking the International English Language Testing
System (IELTS) course during my perod of study at Jiangxi University of Finance and Economics
(JXUFE) in Nanchang, China. These students had a CET 6 Certificate (Upper Intermediate).
However, the unit should be useable in any course involving the preparation of first or second
language learners for further study at university or IELTS.

The unit assumes that the students have their own argumentative essay topic for the course
they are undertaking.

The unit is built around one particular type of argumentative essay. It is important to

understand that there are many other ways of structuring argumentative essays than the one
proposed in this unit. However, the structure outlined here has proved to be very effective
in giving students a clear, accessible and useable model for their own essays. If you are a
student who is accessing this curriculum in order to prepare for an assessment task involving
the writing of an argumentative essay, you should first check with your teacher / tutor /
lecturer to ensure that the structure outlined here is suitable for that task. (You should
probably print out the marine park model and show it to the teacher / tutor / lecturer concerned).

If you have any comments or questions about this unit of work please feel free to contact me:
tugqiuping@yahoo. com. cn or roytul982@gmail. com. QQ:87222543

This unit of work may be downloaded, printed and used for teaching and learning purposes by
students or teachers on the sole condition that the copyright details are not to be removed
from the bottom of each page.

Thanks to adrian for hosting these materials from September 2004.
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Debatable and non—debatable statements

An argumentative essay is built around a specific statement (or main premise) that is debatable within the field in which
you are studying. In other words, at the centre of an argumentative essay is a statement with which your readers may
disagree. Your essay will need to support that statement in a manner that convinces your readers of its truth.

To begin this unit of work on argumentative essays we will learn the difference between debatable and non-debatable

statements

Debatable = Statements with which other people might or might not agree . These are

statements sometimes called "arguments”,

assertions", "propositions" or "premises".

eg. Solar energy is the best way of meeting Australia's energy needs in the 21st

century
Non-debatable = Statements with which no-one would normally disagree or argue. These are
statements sometimes called "facts".

eg. Coal and oil are the main sources of energy in Australia in the 20th century

Task 1

Which of the following statements are debatable and which are non—debatable? If the statement
is debatable, put a tick in the box next to the word “debatable”. If the statement is
non-debatable, put a tick in the box next to the word “non—-debatable”. You will need to print
out the page.

1. Computers and automation increase unemployment

[] debatable

] non-debatable
2. Smoking is harmful to people's health

[] debatable

[] non-debatable

Plants produce oxygen that the world needs to sustain life

[] debatable

[] non-debatable

4. Australia has some of the most venomous snakes in the world
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[] debatable

[] non-debatable
5. Agood education is necessary for a successful and happy life

[] debatable

[] non-debatable

Check your answer here

Answer to Task 1: Debatable and non—debatable statements

1.  Computers and automation increase unemployment

@’ debatable

] non-debatable
2. Smoking is harmful to people's health

[] debatable

M non-debatable

Plants produce oxygen that the world needs to sustain life

[] debatable

@’ non-debatable

4. Australia has some of the most venomous shakes in the world
[] debatable
@’ non-debatable

5. Agood education is necessary for a successful and happy life

@’ debatable

] non-debatable
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Now write a debatable and a non—debatable statement about each of the following topics:

1. Alcohol

2. Television

3. Public transport

4. The Australian education system

5. The Prime Minister

Click here to see some possible answers to this task.

Possible answers to Task 2

Non-debatable

Debatable

Alcohol Alcohol can be legally sold to adults over the age | Drinking alcohol is always bad for your heath
of 18 in Victoria
Television Televison broadcasting began in Australia in |Pay (or cable) television will become more

1956.

popular than free-to-air televsion in the next 10
years.

Public Transport

Trains, trams and buses are all forms of public
transport.

Public transport is more economically efficient
than private car transport.

The Australian
education system

There are three main levels in the Australian
education system: primary, secondary and tertiary

The Australian education system provides the
highest quality education in the Asia-Pacific
region.

The Prime Minister

The Prime Minister is elected by a vote of all the
members of the House of Representatives

The Prime Minister should be directly elected by
all the citizens of Australia.

The words and phrases that are in italics all tell you

that these are debatable statements.

These words show that the writer is not stating facts but is giving opinions or making

speculations.

Providing support for debatable statements (or premises)

Trn +thic cantinn

You now know that debatable statements are not statements of fact but are statements or premises with which other
people may or may not agree. When you are writing an argumentative essay your aim is to make your readers
agree with your debatable statements or premises. You need to convince your readers of the value or truth of your
premises. But by themselves, they are not convincing - they need support.

vAanrtwill TAaavrn haw +A nravida ciimnartina ctatamant e Far

TAT1TY NrAmi1 onao
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(We will use the term “premise” from now on for any debatable statement or assertion
in your argumentative essay). You will also learn how to use connectives to link these
statements to each other and to the premise.

Example 1
Premise: Marijuana should be legalised
Supporting statement 1: It is less harmful to people's health than alcohol.
Supporting statement 2: A very large percentage of the population uses it.

Both supporting statements provide information that helps prove or support the premise. We can use connectives to link these
statements together:

Example 2

Premise: Marijuana should be legalised
Supporting statement 1: Firstly, it is less harmful to people's health than alcohol.

Supporting statement 2: In addition, a very large percentage of the population uses it.

Firstly tells the reader that this is the first supporting statement. (There are no ther formal connectives that can be
used in this place. It is, however, accceptable to have no connective here)

/n addition tells the reader that this is an extra supporting statement. Other

connectives that you could use here are Ffurthermore, Moreover and Secondly.

Task 1
The following premises (P) have one supporting statement (SS1). Rewrite them adding
a second supporting statement (SS2). Also use connectives for the first and second

supporting statements

Immigration

P) A strong immigration program is necessary in Australia
(SS1) The population is too small for sustained economic growth
(SS2)

Smoking

P Smoking should be banned in restaurants and pubs.
(SS1) It will help people to give up this unhealthy habit.

(SS2)
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Freeways

(P) The government should build more freeways instead of public transport.
(SS1) It keeps traffic off residential streets.

(SS2)

Public Transport

(P) The government should build more public transport instead of freeways.
(SS1) It provides cheap transport to people who can't afford cars.

(SS2)

After you have completed this task, check here for suggested or possible answers.

Providing support for debatable statements: answer to task

Immigration

A strong immigration program is necessary in Australia. Firstly, the population is too small for sustained economic
growth. Moreover, immigrants bring in new skills that can help the country develop.

Smoking

Smoking should be banned in restaurants and pubs. Firstly, it will help people to give up this unhealthy habit.
Secondly, non-smoking patrons of these establishments should be able to breathe fresh air.

Freeways

The government should build more freeways instead of public transport. Firstly, it keeps traffic off residential
streets. In addition, it increases the speed of journeys across town, especially for trucks.

Public Transport

The government should build more public transport instead of freeways. Firstly, it provides cheap transport to
people who can't afford cars. Furthermore, it is better for the environment because it produces less air pollution.

Using connectives and paragraphs in a larger argumentative text

In this section you will learn how to organise supporting statements or arguments in a paragraph. You will learn
that it is important to use connectives to list your arguments and to signal the relations between them.

Read the following text carefully

Childcare

The government should provide more financial assistance to parents who use childcare. Childcare centres may
assist children in their early development. They give children an opportunity to mix with other children and to
develop social skills at an early age. Parents and children need to spend some time apart. Children become less
dependent on their parents and parents themselves are less stressed and more effective care-givers when there are
periods of separation. Parents who cannot go to work because they don't have access to childcare facilities cannot
contribute to the national economy. They are not able to utilise their productive skills and do not pay income tax.
Government support for childcare services assists individual families and is important for the economic well-being
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of the whole nation.

Task 1: The main thesis, supporting arguments and conclusion.

This text consists of [ main thesis, 3 supporting arguments and [ conclusion.
Print this page out and use a highlighter or pen to answer the following questions:

a. What is the main thesis?
Circle or highlight the main thesis. Then write "main thesis' in the margin next to it.
b. What are the three supporting arguments?

Circle or highlight each of the three supporting arguments. Then write "argument 1", "argument 2" and
"argument 3" next to each one. (Note: each of these consists of more than one sentence)

¢. What is the conclusion?

Circle or highlight the conclusion and write "conclusion™ in the margin next to it

Check your answers here

Answer to Task 1

Childcare

The government should provide more financial assistance to parents who Main {hesis

deare centres may assist children in ther early

dewelopment. They give children an opportunity to misx with other claldren Arqument 1

and to develop social skills at an early Eg’eﬁrmts and children need to
SPEnd sofne ine apart. Chddren become less dependent on their parents and Y Arqumen] 2

parents themselves are less streszed and more effective care-givers when

there are periods of sepaxﬂlﬁﬁnts who cannot go to work because

gy don't have access to chuldeare facilities cannot contribute to the

: - _ e Arqurent 3
national economy. They are not able to utilise their productive slalls and do

t pay incotne tax ASovernment support Tor chddcare serces assists
individual farnilies and is important for the economic well-heing of the Conclusion

hole natio,

Task 2: Adding information to relevant arguments

The following three sentences each add further information to the three supporting arguments.
Your task is to add the sentences to the text. You will first need to work out which of the
three supporting arguments they relate to.

a. Recent studies indicate that the parent-child relationship can be improved by the use of high-quality childcare
facilities.

b. Awhole range of learning occurs in childcare centres.

¢. Non-working parents can become a drain on the tax system through dependent spouse and other rebates.
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Check your answers here

Answer to Task 2

Childcare

The government should provide more financial assistance to parents who use childcare. Childcare centres may
assist children in their early development. They give children an opportunity to mix with other children and to
develop social skills at an early age. A whole range of learning occurs in childcare centres. Parents and children
need to spend some time apart. Children become less dependent on their parents and parents themselves are less
stressed and more effective care-givers when there are periods of separation. Recent studies indicate that the
parent-child relationship can be improved by the use of high-quality childcare facilities. Parents who cannot go to
work because they don't have access to childcare facilities cannot contribute to the national economy. They are not
able to utilise their productive skills and do not pay income tax. Non-working parents can become a drain on the
tax system through dependent spouse and other rebates.. Government support for childcare services assists
individual families and is important for the economic well-being of the whole nation.

Note: there is more than one correct answer to this task. You are correct if you have placed each sentence inside the supporting
argument that it relates to as outlined below. (However sentence C can only really go at the end of supporting argument 3 after
"income tax" is mentioned)

Childcare

The government should provide more financial assistance to parents WhEI\B Main lhesis
childcare dcare cenfres may agzist cluldren m ther early

development. They give children an opportunity to mix with other children Arqurent 1

and to develop social sldlls at an eatly Eg’eﬁrems and children need to

spend sotme uime apart. Children become less dependent on their parents and ﬂfqumenl 7
parents themselves are less stressed and more effective care-givers when

there are periods of sepaiﬂlﬁﬁnts who cannot go to worlt because

ev don't have access to childcare facilities cannot contribute to the

: N _ huties Arqumend 3
niational econotny. They are ot able to utilise their productive slalls and do

t pay income tax Arovernment support Tor childcare services assists
individual farnties and is inportant for the economic well-being of the Conclusicn

hiole tiatio.

a. Recent studies indicate that the parent-child relationship can be improved by the use of high-quality childcare Argument

facilities. 2

b. Awhole range of learning occurs in childcare centres. Argument
1

c. Non-working parents can become a drain on the tax system through dependent spouse and other rebates. Argument

3
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Task 3: Connectives for listing arguments.

You have seen that we can use different connectives to list the supporting arguments in the
text. These listing connectives are:

‘Firstly ‘This can be used for the first supporting argument

‘Secondly

Furthermore |These can be used for any further supporting arguments (except, of course, for "Secondly" which
Moreover |can only be used for the second)

In addition

i

This can be used for the last supporting argument. Note: this is not a concluding connective and

Finall . . .
y also you can use "Furthermore™, "Moreover" or "In addition” for the last argument if you wish

Mark the beginning of the three supporting arguments with connectives from the above list

Check your answer here

Answer to Task 3

Childcare

The government should provide more financial assistance to parents who use childcare. Firstly, childcare centres
may assist children in their early development. They give children an opportunity to mix with other children and to
develop social skills at an early age. A whole range of learning occurs in childcare centres. Moreover, parents and
children need to spend some time apart. Children become less dependent on their parents and parents themselves
are less stressed and more effective care-givers when there are periods of separation. Recent studies indicate that
the parent-child relationship can be improved by the use of high-quality childcare facilities. In addition, parents
who cannot go to work because they don't have access to childcare facilities cannot contribute to the national
economy. They are not able to utilise their productive skills and do not pay income tax. Non-working parents can
become a drain on the tax system through dependent spouse and other rebates. Government support for childcare
services assists individual families and is important for the economic well-being of the whole nation.

Task 4: Concluding connectives

Three common concluding connectives are:

In

conclusion
— | These all carry roughly the same meaning. They should be used to indicate that you are making final

In statements that cover all the supporting arguments in a very general way

summary

Thus

Mark the conclusion of your argument with a concluding connective.

Check your answer here

Answer to Task 4
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Childcare

The government should provide more financial assistance to parents who use childcare. Firstly, childcare centres
may assist children in their early development. They give children an opportunity to mix with other children and to
develop social skills at an early age. A whole range of learning occurs in childcare centres. Moreover, parents and
children need to spend some time apart. Children become less dependent on their parents and parents themselves
are less stressed and more effective care-givers when there are periods of separation. Recent studies indicate that
the parent-child relationship can be improved by the use of high-quality childcare facilities. In addition, parents
who cannot go to work because they don't have access to childcare facilities cannot contribute to the national
economy. They are not able to utilise their productive skills and do not pay income tax. Non-working parents can
become a drain on the tax system through dependent spouse and other rebates. In conclusion, government support
for childcare services assists individual families and is important for the economic well-being of the whole nation.

Task 5: In fact / Indeed

These connectives have almost the same meaning and both can be used in the following situations:

1. To connect a more detailed statement with a preceding general statement

Example: Today is very warm. In fact (or Indeed) it is 35 degrees Celsius

2. To connect a statement which is more factual and exact with a preceding statement that is more debatable and
general

Example: The internet is very popular in Australia. Indeed (or In fact), Australia has the highest proportion of
Internet users per head of population of any country in the world.

Find three places in the text where you could use “In fact” or “Indeed”.

Check your answers here.

Answer to Task 5

|
This is not the only correct answer but it is the best correct answer. It is usually better to leave a sentence beginning with "In

fact” or "Indeed" until the end of the argument because then the argument finishes with stronger and more factually-based
information.

Childcare

The government should provide more financial assistance to parents who use childcare. Firstly, childcare centres
may assist children in their early development. They give children an opportunity to mix with other children and to
develop social skills at an early age. Indeed, a whole range of learning occurs in childcare centres. Moreover,
parents and children need to spend some time apart. Children become less dependent on their parents and parents
themselves are less stressed and more effective care-givers when there are periods of separation. In fact, recent
studies indicate that the parent-child relationship can be improved by the use of high-quality childcare facilities. In
addition, parents who cannot go to work because they don't have access to childcare facilities cannot contribute to
the national economy. They are not able to utilise their productive skills and do not pay income tax. In fact,
non-working parents can become a drain on the tax system through dependent spouse and other rebates. In
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conclusion, government support for childcare services assists individual families and is important for the economic

well-being of the whole nation.

For more practice on using ”“In fact” and “Indeed”, click here.

In fact / Indeed

Task

Find the correct specific/detailed statement in the second column (a-h) to match the general statements in the first column (1-8).

Join the matching pairs with "In fact" or "Indeed"

General Statement

Many people think Melbourne is a very good
city to live in.

Unemployment in Australia remains a very big
social problem

Australia has a very poor record in providing for
the health needs of Aboriginal people.

Smoking is a very serious health problem in
Australia.

The Liberal Party today is a very successful
political party.

Having a balanced diet is considered to be very
important for a person’s health

Unemployment in Footscray is a very big
problem

In the middle of the nineteenth century the port
of Melbourne was very busy

Check your answers here

In fact / Indeed — Answers

Specific / Detailed Statement

They suffer much higher rates of disease and infant mortality and
much lower rates of life expectancy than other Australians

It holds power federally and in five of the six states.

It accounts for a very high number of hospital admissions and
creates a burden on our health care system.

It was the busiest port in the world at the time.

In the early 1990's an international panel judged it to be the
world's most livable city.

It has one of the highest rates of unemployment in the country

It is arguably the single most important factor in determining
good health.

It is probably the biggest single problem facing Australian society
today

Remember that "In fact" and "Indeed" can be used in the same place. So each of the sentences below could use either

connective.

1. Many people think Melbourne is a very good city to live in. Indeed, in the early 1990's an international panel

judged it to be the world's most livable city.
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2. Unemployment in Australia remains a very big social problem. In fact, it is probably the biggest single problem
facing Australian society today.

3. Australia has a very poor record in providing for the health needs of Aboriginal people. Indeed, they suffer
much higher rates of disease and infant mortality and much lower rates of life expectancy than other
Australians.

4. Smoking is a very serious health problem in Australia. In fact, it accounts for a very high number of hospital
admissions and creates a burden on our health care system.

5. The Liberal Party today is a very successful political party. Indeed, it holds government federally and in five of
the six states.

6. Having a balanced diet is considered to be very important for a person's health. In fact, it is arguably the single
most important factor in determining good health.

7. Unemployment in Footscray is a very big problem. Indeed, it has one of the highest rates of unemployment in
the country.

8. In the middle of the nineteenth century the port of Melbourne was very busy. In fact, it was the busiest port in
the world at the time.

Task 6 Paragraphs

The structure of the text is now well marked by connectives so that the reader can clearly
identify the main thesis, supporting arguments and conclusions.

You can also use paragraphs to mark the structure of the text so that it is even more clear
and easy to read.

Mark the places in the text where you would start a new paragraph with a large (NP) which stands
for “new paragraph”

Then check your answer here.

Answer to Task 6
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he government should provide maore financial assistance to parents who use childcare.

irstly, childcare centres may assist children in their early development. They give children
an oppartunity to mix with ather children and to develop socialskills at an early age.
Indeed, awhole range of learning occurs in childcare centr@rewer, parents and
children need to spend some time apart. Children become less dependent an their parents
and parents themselves are less stressed and more effective care-givers when there are
periods of separation. In fact, recent studies indicate th g parent-child relationship can
be improved by the use of high-guality childcare faciliti@dditinn, parents who cannot
go towork because they don't have access to childoare facilities cannot contribute to the
national econaomy. They are not able to utilise their productive skills and do not pay income
tax. In fact, non-working parents can become 3 drain on the tax system through dependent
spouse and other reha@

onclusion, government support for childcare services

assists individual families and is important for the economic well-being of the whole nation.

Then finally write out a final draft of the text on childcare. It should look like this.

The Final Draft of the Childcare Argumentative Text

|
‘ This is the complete text with paragraphs. All connectives are in italics and colour.

Childcare

The government should provide more financial assistance to parents who use childcare.

Firstly, childcare centres may assist children in their early development. They give
children an opportunity to mix with other children and to develop social skills at
an early age. /ndeed, a whole range of learning occurs in childcare centres.

Moreover, parents and children need to spend some time apart. Children become less
dependent on their parents and parents themselves are less stressed and more effective
care—givers when there are periods of separation. /n fact, recent studies indicate
that the parent—child relationship can be improved by the use of high—quality
childcare facilities.

In addition, parents who cannot go to work because they don’ t have access to childcare
facilities cannot contribute to the national economy. They are not able to utilise
their productive skills and do not pay income tax. /n fact, non—working parents can
become a drain on the tax system through dependent spouse and other rebates.

[n conclusion, government support for childcare services assists individual families
and is important for the economic well-being of the whole nation.

Showing you are aware of both sides of the issue
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Read the following text carefully then answer the questions about it on the next page. You should also print a
number of copies of the text in order to complete the tasks on the next page.

(Apologies for the slow loading of this page. It is presented as a number of inline images to ensure

that the text is formatted the same here as in the answers to the tasks which follow.)

Childcare
Fecent changes in federal government priorities have seen a reduction in
financial suppart for parents who use childcare. This is occurring at a time
when there is increasing social and financial pressure on parents, paricularly
mothers, to work, The issue of childcare and working mothers has been the
subject of dispute for some time. Many argue that the hest place for children is
always in their own homes with their own parents. However, itis my contention
thatthere are many advantages to be had from using childcare and the

government should provide maore financial assistance to parents who do so.

It has been argued that children who attend childcare centres at an early age
miss out on important early learning that occurs in parent-child interaction.
These children, so this argument goes, may be educationally disadvantaged
later in life. Howeewer, childcare centres may actually assist children in their
early learning. They give children an opportunity to mixwith other children and to
develop social skills at an early age. Indeed, 3 whole range of learning ocours
in childcare centres.

Anather argument against the use of childcare facilities is that children can he
emotionally deprived in these facilitates compared to the home. This argument
assumes that the best place for children is to be at their parents’, especially
mothers', side for twenty-four hours a day. It claims that children's emaotional
development can be damaged when they are left in childcare facilities.
Howewer, parents and children need to spend some time apart. Moreowver,
children hecome less dependent on their parents and parents themselves are
less stressed and maore effective care-givers when there are periods of
separation. Infact, recent studies indicate that the parent-child relationship can
he improved by the use of high-quality childcare facilities.

[t could further be asserted that the government and the econormy as awhole
cannot afford the enormous cost involved in supporting childcare for warking
parents. However, working parents actually contribute to the national econamey.
They are ahle to utilise their productive skills and pay income tax, while non-
warking parents can become a drain an the tax system through dependent
spouse and other rebates.

In conclusion, government support for childcare services assists individual
families and is important far the economic well-being of the whole nation.
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Showing you are aware of both sides of the issue — questions

The text you have just studied on the previous page is an expanded version of the argumentative text on childcare
that you studied in the previous section. It still has the same number of paragraphs but the paragraphs are all longer
(except for the conclusion). Make sure you print a few copies of the text out before you complete the following
tasks - you'll be writing on them when you complete the tasks.

If you need to return to the original copy of the text click here.

Task 1: The Main Premise

First we will look at paragraph 1: the introduction. In the previous version of this text
paragraph 1 was made up of only one sentence. This sentence was the main premise. Now the
paragraph is much longer but the main premise is still only one sentence. What is the main
premise? Draw a circle around it and write Main Premise in the margin next to it

Check your answer here

Answer to Task 1: The Main Premise

Childcare
Fecent changes in federal government priorities have seen a reduction in
financial support for parents who use childcare. This is occurring at a time
when there is increasing social and financial pressure on parents, paticularly
mathers, towork. The issue of childcare and warking maothers has been the
subject of dispute for some time. Many argue that the hest place for children is

ahways in their own homes with their own parentyﬁnweuer, itis my cantention
thatthere are many advantages to be had from using childcare and the Mair Premice
L government should provide more financial assistance to parents who do so.

Task 2: Paragraph Topics

Paragraphs 2, 3 and 4 all cover different topics related to the issue of childcare. Describe
the topic of each paragraph in four words or less and write the description in the margin next
to each paragraph (The topic of paragraph 2 is: Effects on early learning)

Check your answer here

Answer to Task 2: Paragraph Topics

These are only possible topic descriptions for each paragraph. If you have used words with the same or similar meanings you
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are still correct.

Childcare
Fecent changes in federal government priorities have seen a reduction in
financial support for parents who use childcare, This is ococurring at a time
when there is increasing social and financial pressure on parents, paricularly
mathers, towork. The issue of childcare and warking maothers has been the
subject of dispute for saome time. Many argue that the best place for children is
always in their own homes with their own parents. However, itis my contention
thatthere are many advantages to be had from using childcare and the
government should provide more financial assistance to parents who do so.

It has been argued that children who attend childcare centres at an early age

miss out on imporant early learning that occurs in parent-child interaction. Eifects on
These children, so this argument goes, may he educationally disadvantaged earfy fearmimge
later in life. Howewver, childcare centres may actually assist children in their

early learning. They give children an opportunity to mixwith other children and to

develop social skills at an early age. Indeed, awhole range of learning occurs

in childcare centres.

Anaother argument against the use of childcare facilities is that children can he

emuationally deprived in these facilitates compared to the home. This argument
assumes that the best place for children is to be attheir parents’, especially hiddrem s
maothers', side for twenty-four hours a day. It claimes that children's emotional

emaiicmal
development can be damaged when they are left in childcare facilities.

Howeewer, parents and children need to spend same time apart. Mareover, development
children hecome less dependent on their parents and parents themselves are
less stressed and more effective care-givers when there are periods of
separation. Infact, recent studies indicate that the parent-child relationship can

he improved by the use of high-guality childcare facilities.

[t could further be asserted that the government and the econormy as awhole

cannot afford the enormous costinvolved in supporting childcare for working LFronomic
parents. However, working parents actually contribute to the national econarmy, &858
They are ahle to utilise their productive skills and pay income tax, while non-

warking parents can become a drain an the tax system through dependent

spouse and other rebates.

In conclusion, government support for childcare services assists individual
families and is important far the economic well-being of the whole nation.

Task 3: Opposing Arguments and Supporting Arguments

Paragraphs 2, 3 and 4 don’ t just contain arguments that support the main premise. They also
contain arguments that oppose the main premise. It is important to include opposing arguments
to show your reader that
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1. you have considered both sides of the argument; and

2. you are able to anticipate and criticise any opposing arguments before they are even stated.

Draw a circle around the opposing arguments in paragraphs 2, 3 and 4. (They are in blocks of
1-3 sentences at the beginning of each paragraph). Then write “opposing arguments” in the margin
next to each.

Check your answer here

Answer to Task 3: Opposing Arguments and Supporting Arguments

Childcare
Fecent changes in federal government priorities have seen a reduction in
financial suppart for parents who use childcare. This is occurring at a time
when there is increasing social and financial pressure on parents, paricularly
mothers, to work, The issue of childcare and working mothers has been the
subject of dispute for some time. Many argue that the hest place for children is
always in their own homes with their own parents. However, itis my contention
thatthere are many advantages to be had from using childcare and the
government should provide maore financial assistance to parents who do so.

t has heemargued that childrenwho attend childcare centres at an early age

dpposing

miss out on important early learning that occurs in parent-child interaction.
AT UM ents

These children, sothis argument goes, may be educationally disadvantaged

later in life\Howewer, childcare centres may actually assist children in their
early learning. They give children an opportunity to mixwith other children and to
develop social skills at an early age. Indeed, awhole range of learning ocours
in childcare centres.

erargument againstthe use of childcare facilities is that children can be

emotionally deprived in these facilitates compared to the home. This argument Opposing

assumes thatthe best place for children is to be attheir parents’, especially ST ETmEnts

maothers', side for twenty-four hours a day. It claimes that children's emotional
development can be damaged when they are left in childcare facilities.

Howewer, parents and children need to spend some time apart. Moreowver,
children hecome less dependent on their parents and parents themselves are
less stressed and more effective care-givers when there are periods of
separation. Infact, recent studies indicate that the parent-child relationship can
he improved by the use of high-quality childcare facilities.
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could further he asserted that the government and the econormy as a whaol Opposing
cannot afford the enormous cost involved in supporting childcare for warking argument

parents| However, working parents actually contribute to the national econamey.
They are ahle to utilise their productive skills and pay income tax, while non-
warking parents can become a drain an the tax system through dependent
spouse and other rebates.

In conclusion, government support for childcare services assists individual
families and is important far the economic well-being of the whole nation.

Task 4: Problematising the Opposing Arguments

Its important that the reader knows that when you write opposing arguments you do not agree
with them You have to make it very clear that you are presenting these arguments only to show
that you understand the issue from both sides, that you have anticipated the opposing arguments
and wish to criticise them.

In order to signal this you need to use special phrases to problematise the opposing statements.
(To problematise something means to make it seem Iike a problem to make it seem untrue). We
can problematise arguments by making them appear to be debatable opinions and not facts (see
Debatable and non—debatable statements earlier in this unit) A common way to do this is to

explicitly mark the statement as an argument.

Example (sentence 1, paragraph 2)

It has been argued that children who attend childcare centres at an early age miss out on important
early learning that occurs in parent-child interaction.

By including the phrase "It has been argued that" in the above statement the writer is problematising
the statement below:

Children who attend childcare centres at an early age miss out on important early learning that
occurs in parent-child interaction.

When there is no problematising phrase, the statement appears non-debatable. The writer is presenting
it as a fact.

Find the other problematising phrases in paragraphs 2, 3 and 4 of the text. They will all be
in the areas of the paragraphs where the opposing arguments are located (i.e. in the first
part of each paragraph). Draw a circle around them.

Check you answer here.

Answer to Task 4: Problematising the Opposing Arguments

The problematising phrases are all circled below
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Childcare
Fecent changes in federal government priorities have seen a reduction in
financial support for parents who use childcare. This is occurring at a time
when there is increasing social and financial pressure an parents, paricularly
maothers, towaork. The issue of childcare and working mothers has heen the
subject of dispute for some time. Many argue that the hest place for children is
always in their own homes with their own parents. However, it is my contention
that there are many advantages to be had from using childeare and the
government should provide more financial assistance to parents who do so.

[t has been arqued thatichildren who attend childocare centres at an early age

miss out on important early learning that occurs in parent-child interaction.

These children,@: this argument gu:ue@J may he educationally disadvantaged

|ater in life. Howeser, childcare centres may actually assist children in their

early learning. They give children an opportunity to mixwith other children and to
develop social skills at an early age. Indeed, 3 whole range of learhing occurs
in childcare centres.

[Another argumment againstthe use of childcare facilities is thafchildren can be

emationally deprived in these facilitates compared to the hamd, This argument
ASsUMEes thatjthe hest place for children is to he at their parents’, especially

mothers', side for twenty-four hours a davt claims that|children's emotional

development can be damaged when they are left in childcare facilities.

However, parents and children need to spend some time apart. Moreover,
children hecome less dependent on their parents and parents themselves are
less stressed and maore effective care-givers when there are periods of
separation. In fact, recent studies indicate that the parent-child relationship can
he impraved by the use of high-gquality childcare facilities.

[" [t could further be asserted thﬁ‘the government and the economy as a whole

cannot afford the enormous cost invalved in suppoding childeare forwoarking
parents. However, warking parents actually contribute to the national economy.
They are able to utilize their productive skills and pay income tax, while nan-
wirking parents can become a drain on the tax systerm through dependent
spouse and other rebates.

In conclusion, government support for childcare serices assists individual
families and is important for the econamic well-being of the whale nation.

You can find more problematising phrases on the next page

Task 5: Shifting from Opposing Arguments to Supporting Arguments.

You can also signal the difference between opposing and supporting arguments by clearly marking



QQ:87222543 tugiuping@yahoo. com. cn

the point in each paragraph where you shift from one to the other. You can use contrasting
connectives to mark this point. The most common of these contrasting connectives is “However”.

Find the point in each of paragraphs 2, 3 and 4 where the writer shifts from opposing arguments
to supporting arguments. Draw a circle around the contrasting connective used to mark the point
in each paragraph.

Check you answer here.

Answer to Task 5: Shifting from Opposing Arguments to

Supporting Arguments

The contrasting connectives which mark the shifts from opposing arguments to supporting arguments are all circled below:

Childcare
Recent changes in federal government priorities have seen a reduction in
financial support for parents who use childcare. This is occurring at a time
when there is increasing social and financial pressure on parents, paricularly
mothers, to work. The issue of childcare and waorking mothers has been the
subject of dispute for some time. Many argue that the hest place for children is
ahways in their own homes with their own parents. However, itis my contention
thatthere are many advantages to be had from using childcare and the
government should provide maore financial assistance to parents who do so.

Anaother argument againstthe use of childcare facilities is that children can be
emationally deprived in these facilitates compared to the home. This argument
assumes that the best place for children is to be at their parents’, especially
mothers', side for twenty-four hours a day. It claims that children's emaotional
development can be damaged when they are left in childcare facilities.

parents and children need to spend some time apart. dWoreover,

chi
less stressed and maore effective care-givers when there are periods of

dfen hecome less dependent on their parents and parents themselves are
separation. Infact, recent studies indicate that the parent-child relationship can

he improved by the use of high-guality childcare facilities.

[t could further he asserted that the government and the economy as awhaole
cannot afford the

parents.wnrking parents actually contribute to the national economy.
They are aiketerUtilize their productive skills and pay income tax, while nan-

warking parents can become a drain on the tax system through dependent

enormous cost involved in supporing childoare forwarking

spouse and other rebates.

In conclusion, government support for childcare services assists individual
families and is important for the econamic well-being of the whole nation.
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Showing you are aware of both sides of the issue 2

On this page you will practice writing pairs of sentences that show your position (or premise) and the opposing
position on a number of issues. Before you go on you may want to go back to the pevious page and read about the
importance of showing that you are aware of the opposing position when writing argumentative texts.

Example

It could be argued that computers create unemployment. However, computers actually create many new forms of
employment that never existed before.

The first sentence of the example shows the following:
1. The writer is aware of the opposing opinion: ...computers create unemployment
2. The writer is problematising that opinion: It could be argued that ....

The second sentence of the example shows the following:

1. It contrasts the writer's opinion with the However, computers actually create many new
opposing opinion: forms of employment that never existed before

Language Summary: other ways of showing that you are aware of the opposing opinion

1. When you can think of the opposing opinion but you have not seen it written anywhere:

argued

may be
asserted
contended

It |couldbe L |that.....ccceveurrrnnne However,................
maintained
) claimed

might be

said

2. When you have seen the opposing opinion written in another text:

argued
asserted
contended
It 'lhasbeen ! |that......cc.cerrrernnn. However,................
maintained

claimed

said

It is argued that......c..cevvevenne However,................

asserted
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contended
maintained
claimed

said

Task

There are 6 issues listed below. Your task is towrite a pair of sentences similar to the sentence
in the model about each of the issues. The first sentence should present and problematise the
opposing opinion on this issue. The second sentence shoould present your opinion (or premise)
on this issue, Dont forget to link the two sentences with the contrasting connective, However.
Use the language summary above to help you and try different ways of showing you are aware
of the opposing opinion.

1. Banning smoking in restaurants 2. Banning all guns
3. Making Australia a republic 4. Decreasing immigration levels in Australia
5. Having the Grand Prix at Albert Park 6. Reintroducing capital punishment

Check your answer here.

Answer to Task

The sentences below are possible answers to this task. They are presented to help you write your own sentences on
these issues. The writer's premises are in the second sentences. In each of the first sentences the writer is
problematising the opposing position or opinion.

1. Banning smoking in restaurants

It could be asserted that smokers should be free to smoke in restaurants as they wish. However, by banning
smoking in all public places we can help people to give up this extremely unhealthy habit.

2. Banning all guns

It has been argued that people have a legal right to own guns in our society. However, unlike the United States,
there is no law in Australia that guarantees any right to own firearms.

3. Making Australia a republic

It is claimed that changing to a republic would make Australia a more democratic country. However, the
constitutional system that we have at the moment has functioned very well to ensure democracy for nearly 100
years and it is very risky to change it.

4. Decreasing immigration levels.

It has been maintained that there are not enough employment opportunities in Australia to sustain high
immigration levels. However, research into this issue has found that immigrants create new forms of employment



QQ:87222543 tuqiuping@yahoo. com. cn

through the businesses they establish.
5. Having the Grand Prix at Albert Park.

It is contended that the people of Melbourne are very unhappy with the government's decision to stage the Grand
Prix at Albert Park. However, recent opinion polls show that the vast majority of the population is not concerned
with this issue at all and is happy to have the Grand Prix anywhere in Melbourne.

6. Reintroducing capital punishment

It could be said that reintroducing capital punishment will deter people from committing serious crimes of
violence. However, overseas experience indicates that the level of violent crime is not reduced by the threat of the
death penalty.

Working out the main premise from a paragraph

On this page you will learn that exactly the same arguments can be used in essays that have opposite premises. But
the arguments must be marked differently. Arguments that support the writer's main premise are presented as facts
or as non-debatable statements. Arguments that oppose the writer's main premise will be marked with
problematising phrases so that they appear debatable and possibly untrue.

The paragraphs are not complete texts. They are paragraphs from larger essays on the
issue of whether Australia should become a republic. Therefore the main premise of
each is not explicitly stated. It would be explicictly stated in the introduction
to the essays from which the paragraphs were extracted.

The topic of the paragraphs is how the issue of the republic is related to the questions
of immigration and national identity. They both describe the same arguments but have
opposite premises.

Task

Read each passage carefully. Choose the correct main premise for each passage. (Remember to
look carefully for statements with problematising phrases and for the connective “However”
which marks the shift from the opposing arguments to the arguments which support the writer’ s
main premise. It would be a good idea to print the page out and circle these phrases and
connectives).

Paragraph 1

Jacobsen (1992) argues that Australia does not need a republic to build a sense of national identity because
we already have one. It is claimed that three quarters of our population is still Anglo-Celtic. According to
this argument, if people want to migrate here they have to accept Australia's traditions and its way of life.
Other countries, so this argument goes, do not feel that they have to change their constitution just because
they accept immigrants from different cultures. However, as Smith (1993) explains, Australia must develop



QQ:87222543 tuqiuping@yahoo. com. cn

a new cultural identity to reflect its diverse and multicultural population. Australia is no longer a nation of
British and Irish people. Its citizens come from a huge variety of different ethnic and cultural backgrounds.
It is claimed that if Australia was a republic it would give our migrants a stronger sense of belonging.
Moreover, we would not be turning our back on our Anglo-centred past if we became a republic because we
could still stay on as a member of the Commonwealth of Nations.

What is the author’ s main premise?

|:| _ Australia should become a republic

[] Australia should remain a constitutional monarchy

Paragraph 2

Smith (1993) asserts that Australia must develop a new cultural identity to reflect its diverse and
multicultural population. According to this argument, Australia is no longer a nation of British and
Irish people. Its citizens come from a huge variety of different ethnic and cultural backgrounds. It is
claimed that if Australia was a republic it would give our migrants a stronger sense of belonging. This
position goes on to argue that we would not be turning our back on our Anglo-centred past if we
became a republic because we could still stay on as a member of the Commonwealth of Nations.
However, as Jacobsen (1992) states, Australia does not need a republic to build a sense of national
identity because we already have one. Moreover, three quarters of our population is still Anglo-Celtic.
Furthermore, if people want to migrate here they have to accept Australia's traditions and its way of
life. In addition, other countries do not feel that they have to change their constitution just because
they accept immigrants from different cultures.

What is the author’s main premise?

|:| _ Australia should become a republic

[] Australia should remain a constitutional monarchy

Check your answers here

Answer to Task: Working out the main premise from a paragraph

Paragraph 1

The main premise of paragraph 1 is: Australia should become a republic.

You can see this from the text below. All the phrases which oppose Australia becoming a republic contain
problematising phrases (circled in blue), making them appear debatable and possibly untrue. They are followed by
a set of statements that are presented as non-debatable or as facts and which argue for Australia becoming a
republic. The connective "However" (circled in red) separates the two sets of statements.
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Note: the phrase "as Smith explains” presents Smith's statement as non-debatable or as a fact.
Therefore, it is not a problematising phrase. This phrase is used to present another witer's argument
supporting your main premise which you have found in another published text during your research
of the essay topic. We will look at this phrase further on in this unit.

Paragraph 1
@cobsen {1992) argues tl—lagﬁustra]ia does not need a republic to buld a
sense of nattonal identity because we already have one (Tt 15 claimed that/three
gquatters of our population i still Anglo-Celtic, E{%ccordi_ilg to this argmnﬁ?,] if
people want to migrate here they have to accept Australia’s traditions and its
way of life. Other countries,(go this argument goes) do not feel that they have
to change their constiution just because they accept wnmgrants from different
|::ulturas smith (1993) explains, Australia must develop a new
cultural identity to reflect its diverse and mulbcultural population. Australia 15 no
longer a nation of British and Insh people. Its citizens come from a huge
variety of different ethnic and cultural backorounds. Tt is clatmed that if
Anstralia was a republic it would give our rigrants a stronger sense of
belonging. Moreower, we would not be turning our back on our Anglo-centred

past if we became a republic because we could still stay on as a member of
the Commonwealth of Tations.

Paragraph 2

The main premise of paragraph 2 is: Australia should remain a constitutional monarchy.

You can see this from the text below. All the phrases which support Australia becoming a republic contain
problematising phrases (circled in blue), making them appear debatable and possibly untrue. They are followed by
a set of statements that are presented as non-debatable or as facts and which argue for Australia remaining a
constitutional monarchy. The connective "However" (circled in red) separates the two sets of statements.

Note: the phrase "as Jacobsen states” presents Smith's statement as non-debatable or as a fact.
Therefore, it is not a problematising phrase. This phrase is used to present another witer's argument
supporting your main premise which you have found in another published text during your research
of the essay topic. We will look at this phrase further on in this unit.

Paragraph 2

Eg_mith (1993 asserts that) Australia must develop a new cultural identity to
reflect itz diverse and multicultural population.
Australia 15 no longer a nation of British and Insh people. TMF citizens come

from a huge vanety of different ethnic and cultural backgounds.[It 15 claimed
@ it Australia was a republic it would mive our migrants a stronger sense of
belonging. (This posttion goes on to argue thaﬁ we would not be turning our
back on our Anglo-centred past if we became a republic because we could
still stay on as a member of the Commonwealth of Mations. as
Jacobsen (1992) states, Australia does not need a republic to buld 7 sense of
national identity becauze we alteady have one. Moreover, three quatters of
our population 15 still Angle-Celhc. Furthermeore, if people want to migrate
here they hawve to accept Australia's traditions and its way of life. In addition,
other countries do not feel that they have to change their constitution qust
because they accept inmigrants from different cultures.
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Using connectives and problematizing phrases in a paragraph

On this page you will practise using connectives and problematising phrases in a
paragraph. The paragraph is not a complete text; it is one paragraph from a longer
argumentative essay on the issue of whether Austalia should become a republic.The
topic of the paragraph is the significance of the republic issue for Australia's
international and trade relations.

Task

The problematising phrases and connectives have been taken out of the paragraph. They
are listed below the text. Select the correct connective or problematising phrase
for each of these places in the text. You should print the page and write on the
printout.

The Republican Debate Writers main premise: Australia should remain a constitutional
monarchy

Paragraph topic: Significance for international and trade relations.

Thomas Kenneally, the head of the Australian Republican Movement,
if we break our ties with the British monarchy we will be

respected by other independent countries in the world community (The Age, 24.5.93).
Our dependence on our former colonial rulers, ,

makes us seem immature to the rest of the world. this

is especially important in our relations with countries in our own region of the world,
the Asia—-Pacific region. This is the fastest developing economic region in the world
at the present time. , if Australia is to share in the

economic success of the region, it must be accepted by the other countries in the
region, most of which cut their ties with their colonial rulers a long time ago (Time
Australia, April 12, 1993). , as Mr Lee, the former
Singapore government minister, said in a recent interview, our Asian neighbours are
interested in trade (The Bulletin, 19.6.93). They are not concerned with whether we
become a republic or not. , there are at least three

powerful economic powers in the region which have monarchies: Thailand, Malaysia and
Japan. , Australia’ s future as a trading nation in Asia

will depend more on building a strong production and marketing base in this country
than changing to a republic.

1. moreover

2. however
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3. argues that

4. it is claimed that

5. furthermore

6. so this argument goes

7. according to this position

Check your answer here

Answer to Using connectives and problematising phrases in a
paragraph

The Republican Debate
Writers main premise: Australia should remain a constitutional monarchy
Paragraph topic: Significance for international and trade relations.

Thotas Kenneally, the head of the Australian Eepublican IMovement, dFFHEY
that if we break our ties with the British monarchy we will be

respected by other ndependent countries in the wotld commmunity (The Age, 24 593
Cur dependence on our former colomal rulers,  $@ thiis argument
_goes . makes us seem immature to the rest of the world, JF 8

claimed that this 15 especially mportant in our relations with countries in our
own region of the world, the Asia-Pacific region. This i3 the fastest developing economic
region in the world at the present time. _According fo this posifion i
Lustralia 15 to share i the economic success of the region, it must be accepted by the
other countries in the regon, most of which cut their ties with their colontal nilers a long
time ago (Time Australia, Lpril 12, 1993 However , as
Wir Lee, the former Singapore government minister, said in a recent mternew, our Asian

neighbours are interested in trade (The Bulletin, 19.6.93). They are not concerned with
whether we becote a republic of not. Furthermore (ﬂl" Mﬂmﬂ‘l’ﬂf) , there are
at least three powerful economic powers i the region which have monarchues: Thatlland,
Malaysia and Japan. Meoreover {or Furthermore) | iustralia's future as a
trading nation in Asta will depend more on building a strong production and marleting
base in this country than changing to a republic.

Note :"According to this position™ and "It is claimed that" could be reversed and the answer would still be correct.

Putting together a paragraph for an argumentative text

On this page you will practise building a paragraph for an argumentative text. The text is about whether fees
should be charged for university courses.
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Task 1: Dividing the sentences into opposing and supporting arguments

The sentences below all make up a paragraph from an argumentative essay on the topic of whether
the government should charge fees for university courses. Divide the sentences into two groups:

Group 1: those sentences which support the writer's main premise

Group 2: those sentences which oppose the writer's main premise

Charging fees for university courses
Writers main premise: Students should have to pay fees for university courses

1.

Furthermore, there is money to fund more places for students so that in the future we will not have the shortage
of places we had in the past.

. It is asserted that the skills that students learn at university are important for the future social and economic

development of our nation.

. However, as John Dawkins (1988:1) explains the government is able to invest the money it gets back into the

higher education system so that overall quality is improved.

. Joan Sprat (1989:13) argues that the government should provide free university education because such

education benefits the whole community.

. Moreover, it is unreasonable to expect taxpayers to pay for students' education when those students get

well-paid professional jobs after they graduate.

. According to this argument, when students are forced to pay for their education themselves fewer of them will

enrol in higher education courses.

. Therefore,so this argument goes the government should invest money in education as it does with other vital

resources.

Check your answer here

Answer to Task 1: Dividing the sentences into opposing and

supporting arguments

Writers main premise: Students should have to pay fees for university courses

Opposing arguments Supporting arguments

She asserts that the skills that students learn at university
are important for the future social and economic
development of our nation

Joan Sprat (1989:13) argues that the government should
provide free university education because such education
benefits the whole community.

Furthermore, there is money to fund more places for students so
that in the future we will not have the shortage of places we had in
the past.

However, as John Dawkins (1988:1) explains the government is
able to invest the money it gets back into the higher education

qvstem an that nverall analitv ic imnroved
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According to this argument, when students are forced to
pay for their education themselves fewer of them will | Moreover, it is unreasonable to expect taxpayers to pay for
enrol in higher education courses. students' education when those students get well-paid professional
jobs after they graduate.

Therefore, so this argument goes, the government should
invest money in education as it does with other vital
resources

Task 2: Building a paragraph

Now write a paragraph arguing for the premise that students should have to pay fees for
university courses using all the sentences from your two groups,

Check your answer here

Answer to Task 2:

University Fees
Main premise: Students should have to pay fees for university courses

Joan Sprat (1989:13) argues that the government should provide free university education because such education
benefits the whole community. She asserts that the skills that students learn at university are important for the
future social and economic development of our nation. Therefore, so this argument goes, the government should
invest money in education as it does with other vital resources. According to this argument, when students are
forced to pay for their education themselves fewer of them will enrol in higher education courses. However, as
John Dawkins (1988:1) explains the government is able to invest the money it gets back into the higher education
system so that overall quality is improved. Furthermore, there is money to fund more places for students so that in
the future we will not have the shortage of places we had in the past. Moreover, it is unreasonable to expect
taxpayers to pay for students' education when those students get well-paid professional jobs after they graduate.

Choosing your own premise and writing a paragraph

On this page you will be given a number of arguments on the issue: Should smoking rooms be set up in workplaces
to allow people to smoke indoors? None of the arguments will have any problematising phrases or connectives in
them. You will have to choose your own premise and build a paragraph that argues for the premise you have
chosen. You will have to add problematising phrases and connectives to distinguish between arguments that
support the premise you chave chosen and arguments that oppose it

Task 1: Dividing the arguments into “For” and “Against”

Should smoking rooms be set up 1n workplaces to allow smokers to smoke Indoors? There is a
list of arguments below which are for and against the issue. Decide whether each statement
is for smoking rooms or against smoking rooms. Print out the page and put an “F” in the box
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next to each argument that is for smoking rooms and put an “A” in the box next to each argument
that is against smoking rooms.

The arguments:

L]

Setting aside rooms for smokers does not mean that the harmful effects of smoking
are limited to smokers alone (Rugby, 1989).

n Banning smoking in all public places is another example of the way the government

uses health and safety issues as a cover for introducing increasingly tight control
over people’s lives

Most public buildings are air conditioned and this means that any harmful tobacco
smoke that is produced in one room will spread to other rooms through the air
conditioning system.

Because we rightfully have a universal health insurance system in this country,
the costs of treating tobacco—related illnesses are shared by all the community,
smokers and non—smokers alike.

These illnesses create a terrible and expensive burden on our health system.

Forbidding smokers from pursuing their habit in public places is an infringement
of their democratic rights and is discriminatory (Jane Black, the spokesperson
for Smokers for a Democratic Society, The Age 18.6.93). .

Public buildings are places where all members of the community should have equal
access.

They increase the overall cost of medical services and use up scarce medical
resources.

People should be free to do what they like so long as it does not harm other citizens.

L]

Check your answer here

Answer to Task 1: Dividing the arguments into “For” and

"Against”

Setting aside rooms for smokers does not mean that the harmful effects of smoking
are limited to smokers alone (Rugby, 1989).

Banning smoking in all public places is another example of the way the government

uses health and safety issues as a cover for introducing increasigly tight over
people’ s lives

Most public buildings are air conditioned and this means that any harmful tobacco
smoke that is produced in one room will spread to other rooms through the air
conditioning system.

Because we rightfully have a universal health insurance system in this country,
the costs of treating tobacco—related illnesses are shared by all the community,
smokers and non—smokers alike.
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These illnesses create a terrible and expensive burden on our health system.

Forbidding smokers from pursuing their habit in public places is an infringement
of their democratic rights and is discriminatory (Jane Black, the spokesperson
for Smokers for a Democratic Society, The Age 18.6.93).

Public buildings are places where all members of the community should have equal
access.

They increase the overall cost of medical services and use up scarce medical
resources.

People should be free to do what they like so long as it does not harm other citizens.

Task 2: Choosing a premise and writing a paragraph to support that premise

Now that you have divided the arguments into those that are for smoking rooms and those that
are against smoking rooms, you are ready to start writing a paragraph. The first thing you
have to do is decide what is your main premise. Will your paragraph argue for smoking rooms
or against smoking rooms?

After you have decided on your main premise you are ready to start writing your paragraph.

Remember to:

1. Show both sides of the issue by including the arguments that oppose your main premise. You might want to go
back and look at the work we did earlier in this unit on showing both sides of the issue.

2. Use problematising phrases to mark those arguments that do not support your main premise to make them
appear debatable or possibly untrue. You might want to go back and look at the work we studied on using
problematising phrases and the_language summary for problematising phrases that we studied earlier in this
unit.

3. Clearly the mark the place in the paragraph where you change from opposing arguments to supporting
arguments with a "but-type" connective e.g. "however", "on the other hand" etc. You might want to go back and
look at the work we did on shifting from opposing arguments to supporting arguments that we studied earlier in
this unit.

4. Use listing connectives, such as "firstly", "in addition”, "moreover”, "furthermore”, “finally", to list all the
arguments that support your main premise. You might want to go back and look at the work we did earlier in
this unit on connectives for listing arguments.

Note: For a general language summary of all the above 4 points go here

You might also wish to go back and look at some of the complete paragraphs we have studied earlier in this
unit:

a. Childcare

b. The republic
C. Another paragraph on the republic

d. University fees

Check your answer here
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Answer to Task 2: Choosing a premise and writing a paragraph

to support that premise

There are, of course, a number of ways you could order the arguments in your answer. You are correct if you:

a. have placed the arguments that oppose your main premise in the first half of your paragraph
b. have used problematising phrases to mark the opposing statements as debatable and possibly untrue

c. have used a contrasting connective, such as "However", to mark where you are shifting from arguments that
oppose your main premise to arguments that support your main premise

d. have used listing connectives, such as "Moreover", "Furthermore", and "In addition" to list the arguments that
support your main premise.

Below are possible paragraphs for each of the two main premises:

Premise 1:  Smoking rooms should be set up in workplaces to allow people to smoke indoors.

It has been argued that setting aside rooms for smokers does not mean that the harmful effects of smoking are
limited to smokers alone (Rugby, 1989). This position contends that most public buildings are air conditioned and
this means that any harmful tobacco smoke that is produced in one room will spread to other rooms through the air
conditioning system. It is also claimed that because we rightfully have a universal health insurance system in this
country, the costs of treating tobacco-related illnesses are shared by all the community, smokers and non-smokers
alike. These illnesses, so this argument goes, create a terrible and expensive burden on our health system. It is
maintained that they increase the overall cost of medical services and use up scarce medical resources. However,
as Jane Black, the spokesperson for Smokers for a Democratic Society, explains forbidding smokers from pursuing
their habit in public places is an infringement of their democratic rights and is discriminatory.(The Age 18.6.93).
Moreover, banning smoking in all public places is another example of the way the government uses health and
safety issues as a cover for introducing increasingly tight control over people's lives. Furthermore, public buildings
are places where all members of the community should have equal access. In addition, people should be free to do
what they like so long as it does not harm other citizens.

Premise 2:  Smoking rooms should not be set up in workplaces to allow people to smoke indoors.

Jane Black, the spokesperson for Smokers for a Democratic Society, asserts that forbidding smokers from
pursuing their habit in public places is an infringement of their democratic rights and is discriminatory (The Age
18.6.93). This position goes on to argue that banning smoking in all public places is another example of the way
the government uses health and safety issues as a cover for introducing increasingly tight control over people's
lives. Public buildings, so this argument goes, are places where all members of the community should have equal
access. It is claimed that people should be free to do what they like so long as it does not harm other citizens.
However, as Rugby (1989) states, setting aside rooms for smokers does not mean that the harmful effects of
smoking are limited to smokers alone. Public buildings are air conditioned and this means that any harmful
tobacco smoke that is produced in one room will spread to other rooms through the air conditioning system.
Moreover, because we rightfully have a universal health insurance system in this country, the costs of treating
tobacco-related illnesses are shared by all the community, smokers and non-smokers alike. These illnesses create a
terrible and expensive burden on our health system. They increase the overall cost of medical services and use up
scarce medical resources.
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Note: Not many listing connectives were used in the second half of the premise 2 text because there are
only two arguments but each argument is made up of more than one sentence - listing conectives are used
for listing arguments, not for listing sentences

Converting an informal text into a formal text

On this page you will be given a text about the issue of whether the government should introduce tighter controls
on the ownership of guns. The text is written in an informal style. When we are speaking about these issues we
usually use an informal style like the one below. So the text contains the type of language we use in spoken
debates or discussions. However, we have seen in this unit of study that argumetative essays use a much more
formal academic style. You will be asked to rewrite the text in this formal academic style.

Task: Changing an informal argumentative text into a formal argumentative paragraph

The following text is written in an informal tone. Rewrite it in a more formal tone

Main premise: The government should introduce tighter gun controls

Jack Spring thinks that everyone should have the right to own a gun but | don't agree with him. People like him
think that the government is infringing our democratic rights when it restricts gun ownership. They think that most
people who own guns are responsible citizens who keep the guns for sport and recreation. They also think that the
police are unable to stop violent crime and we need guns to protect ourselves. But | think he's wrong. | agree with
Josephine Bluff who thinks that guns increase the amount of violent crime in the community. | also think that
human life is worth more than sporting shooters right to go shooting on the weekend. And | also think that many of
the guns that are kept around the house end being used in violent domestic disputes or teenage suicides.

Check your answer here

Answer to Task 1: Changing an informal argumentative text into

a formal argumentative paragraph

There are, of course, a number of ways you could order the arguments in your answer. You are correct if you:
a. have placed the arguments that oppose the main premise in the first half of your paragraph
b. have used problematising phrases to mark the opposing statements as debatable and possibly untrue

c. have used a contrasting connective, such as "However", to mark where you are shifting from arguments that
oppose your main premise to arguments that support your main premise

d. have used listing connectives, such as "Moreover", "Furthermore", and "In addition" to list the arguments that
support your main premise.

The following is one suggested translation of the informal text into a formal paragraph:
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Main premise: The government should introduce tighter gun controls

Jack Spring maintains that everyone should have the right to own a gun. This position asserts that the government
is infringing our democratic rights when it restricts gun ownership. Most people who own guns, so this argument
goes, are responsible citizens who keep the guns for sport and recreation. It is further contended that the police are
unable to stop violent crime and we need guns to protect ourselves. However, as Josephine Bluff states, guns
increase the amount of violent crime in the community. Moreover, human life is worth more than sporting shooters
right to go shooting on the weekend. In addition, many of the guns that are kept around the house end being used
in violent domestic disputes or teenage suicides.

Sorting arguments into topics and paragraphs

On this page you will start working on a longer text made up of 3 paragraphs. These paragraphs will be pargraphs
2, 3 and 4 from an argumentative essay on the issue: Should marine mammals be kept in captivity in marine
parks?. Marine mammals are warm-blooded sea animals such as whales, dolphins and seals. Marine parks are
places where these animals are kept in pools and perform in shows for the public to see. An example of a marine
park in Australia is "Seaworld" on the Gold Coast in Queensland.

Earlier in this unit we saw that each paragraph in an argumentative essay discusses
a different topic related to the issue of the essay. Therefore, you need to sort your
arguments into different topics when you preparing to write your essay. On this page
you will practice sorting arguments into topics.

Task 1: Identifying the topic of a paragraph

Below are the beginning sections of three paragraphs on the issue, Should marine mammals be
kept in captivity in marine parks? Because they are the beginnings of the paragraphs they each
present and problematise opposing arguments on the issue. Describe the topic of each paragraph
in four words or less and write the description in the margin next to each paragraph. (You
will need to print the page out — the blank lines are there for you to write on in Task 3 below).

Before you complete this task you might want to look back at the work on describing paragraph
topics that you completed earlier in this unit.

I not keep marine mammals in captivity

Iphin parks provide the only opportunity for much of the public to see marine mammals (Smith, 1992). Most Australians, so this argument go
(] animals. It is further claimed that marine parks allow  the average Australian to app

irector of the Cairns Marine Science Institute, contends that we need marine parks for scientific research (The Age

ledge of marine mammals comes from studies which were undertaken at marine parks. The knowledge which is obtained at
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 useful for planning for the conservation of marine mammal

»f the Marine Park Owners Association that marine parks attract a lot of foreign tourists (The Sun-Herald 12.4.93)
tourists spend a lot of money, increasing our foreign exchange earnings and assisting our national balance of

Check your answer here

Answer to Task 1:

These are only possible topic descriptions for each paragraph. If you have used words with the same or similar meanings you
are still correct.

Main Premise: ¥% should nof keep marine mammals i capfivify

It hias bieen aremed that dolphin parks provide the only opporturdty for roch of the public to see Public
rnarive wararnals (Sraith, 19920 Tiost Lustralians, zo this arporent goes, Ive n cities and nesver

get to see these animals. It is further claimed that marine parks allow the average Australian to =~ FCCESS to
appreciate our roarine wildlife. cerirncels

Dr &lison Lane, the director of the Cairne Iiarine Science Institute, contends that vwe need

rnaring parks for scientific research (The Lge, 19.2.93). She argues that rauch of owr knowledge Scientific
of roatine roaroroals comes from studies which were undertaken at roarine parks. The knowledze
which is obtaired at marine parks, so this argurnent goes, can be wsefil for plarsdng for the
conservation of marive marrnal species.

resecrch

It iz the contention of the Iiarine Park Cwmers Lssociation that mavine parks attract alot of  Ecomnamiic
foreizn towrdsts (The Sun-Herald 12.4.93). This position goes on to assert that these tourists benefits
spend a lot of money, mcreasing our foreign exchange earnings and assisting our national balance gz

of payrents. tourisn
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Task 2: Sorting the supporting arguments into topics

Below is a list of arguments that support the writer’s main premise. Later (in Task 3) you
will add them to the essay above. However, first they need to be sorted into the different
topics that are covered by each paragraph so that you know which paragraph they can be added
to.

The following abbreviations represent the different topics you identified in Task 1:

= Public access to animals
P&

= Scientific research
SR

= Economic Benefits from tourism
ECO

Sort the following supporting arguments into the three topics by writing the correct abreviation in the boxes:

Arguments that support the author's main premise

However, as Smith states, dolphins, whales and seals can be be viewed in the wild at a number of places
on the Australian coast.

Moreover, dolphin and whale biology changes in marine park conditions.

Furthermore, we should be promoting our beautiful natural environment to tourists and not the ugly
concrete marine park venues.

Tourists come here to see our native wildlife in its natural environment and not to see it in cages and
cement pools.

In addition, marine mammals in dolphin parks are trained and this means that their patterns of social
behaviour are changed.

In fact, there are more places where they can be seen in the wild than places where they can be seen in
captivity.

In addition, places where there are wild marine mammals do not charge an exorbitant entry fee - they are
free.

Surveys of overseas tourists show that they come here for a variety of other reasons and not to visit places
like Seaworld (The Age, Good Weekend 16.8.93).

Therefore research undertaken at marine parks is generally not reliable.

However, foreign tourists would still come to Australia if the parks were closed down.

They can usually see animals in those conditions in their own countries.

However, as Jones (1991) explains, park research is only useful for understanding captive animals and is
not useful for learning about animals in the wild.

Their diets are different, they have significantly lower life spans and they are more prone to disease.

Moreover, most Australians would have to travel less to get to these locations than they would to get to the
marine parks on the Gold Coast.
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Check your answer here

Answer to Task 2: Sorting the supporting arguments into topics

Arguments that support the author's main premise

However, as Smith states, dolphins, whales and seals can be be viewed in the wild at a number of places

P& .
. on the Australian coast.

IR Moreover, dolphin and whale biology changes in marine park conditions.

—_ Furthermore, we should be promoting our beautiful natural environment to tourists and not the ugly
. concrete marine park venues.

o Tourists come here to see our native wildlife in its natural environment and not to see it in cages and
. cement pools.

R In addition, marine mammals in dolphin parks are trained and this means that their patterns of social
. behaviour are changed.

™ In fact, there are more places where they can be seen in the wild than places where they can be seen in
. captivity.

Pﬁ_InammMmphmstthmamdemmmenmmmﬂsmnmtdmmewummMMMemwf%-ﬂmyme
. free.

o Surveys of overseas tourists show that they come here for a variety of other reasons and not to visit places
. like Seaworld (The Age, Good Weekend 16.8.93).

R Therefore research undertaken at marine parks is generally not reliable.

S However, foreign tourists would still come to Australia if the parks were closed down.

—_ They can usually see animals in those conditions in their own countries.

SR However, as Jones (1991) explains, park research is only useful for understanding captive animals and is
. not useful for learning about animals in the wild.

R Their diets are different, they have significantly lower life spans and they are more prone to disease.

™ Moreover, most Australians would have to travel less to get to these locations than they would to get to the
. marine parks on the Gold Coast.

Task 3: Adding the supporting arguments to the paragraphs

Now the supporting arguments are sorted into the same topics as the pargraphs in the text in
Task 1. You are ready to add them to the text. Add them to the text now. (If you haven’ t yet
printed out this page do so now).

You will need to pay careful attention to the connectives in each of the supporting statements
to complete this task correctly. You might want to look back at the pages that you studied
earlier in this unit on:
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1. Listing connectives: Moreover, In addition etc.

2. Infact and Indeed

3. However

Check your answer here.

Answer to Task 3: Adding the supporting arguments to the

paragraphs

Main Premise: We should not keep marine mammals in captivity

It has been argued that dolphin parks provide the only opportunity for much of the public to see marine mammals
(Smith, 1992). Most Australians, so this argument goes, live in cities and never get to see these animals. It is
further claimed that marine parks allow the average Australian to appreciate our marine wildlife. However, as
Smith states, dolphins, whales and seals can be be viewed in the wild at a number of places on the Australian
coast. In fact, there are more places where they can be seen in the wild than places where they can be seen in
captivity. Moreover, most Australians would have to travel less to get to these locations than they would to get to
the marine parks on the Gold Coast. In addition, places where there are wild marine mammals do not charge an
exorbitant entry fee - they are free.

Dr Alison Lane, the director of the Cairns Marine Science Institute, contends that we need marine parks for
scientific research (The Age, 19.2.93). She argues that much of our knowledge of marine mammals comes from
studies which were undertaken at marine parks. The knowledge which is obtained at marine parks, so this
argument goes, can be useful for planning for the conservation of marine mammal species. However, as Jones
(1991) explains, park research is only useful for understanding captive animals and is not useful for learning
about animals in the wild. Moreover, dolphin and whale biology changes in marine park conditions. Their diets
are different, they have significantly lower life spans and they are more prone to disease. In addition, marine
mammals in dolphin parks are trained and this means that their patterns of social behaviour are changed.
Therefore research undertaken at marine parks is generally not reliable.

It is the contention of the Marine Park Owners Association that marine parks attract a lot of foreign tourists (The
Sun-Herald 12.4.93). This position goes on to assert that these tourists spend a lot of money, increasing our foreign
exchange earnings and assisting our national balance of payments. However, foreign tourists would still come to
Australia if the parks were closed down. Surveys of overseas tourists show that they come here for a variety of
other reasons and not to visit places like Seaworld (The Age, Good Weekend 16.8.93). Tourists come here to see
our native wildlife in its natural environment and not to see it in cages and cement pools. They can usually see
animals in those conditions in their own countries. Furthermore, we should be promoting our beautiful natural
environment to tourists and not the ugly concrete marine park venues.

A model argumentative essay

This page contains a longer, complete argumentative essay. The issue covered by the essay is Should marine
mammals be kept in captivity in marine parks?This essay can be a model for your own argumentative essay that
you need to complete for the course that you are studying. But before you can use it as a model you will need to
study it carefully.
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However, when you read the essay you will see that you have already studied a lot
of the the language and paragraph structures that are used in it earlier in this unit.
Also, you have already seen the full text of paragraphs 2, 3 and 4 of this essay on
the previous page.All these language features that you have studied are written in
colour and in rtalics. So a lot of your work is already done.

Read the essay carefully and then go on to the next page where you will be asked to
answer some questions about it.

Marine Parks

The issue of whether we should allow marine parks to stay open has been widely debated in our community
recently. It is an important issue because it concerns fundamental moral and economic questions about the way we
use our native wildlife. A variety of different arguments have been put forward about this issue. This essay will
consider arguments for having marine parks and point to some of the problems with these views. It will then put
forward reasons for the introduction of laws which prohibit these unnecessary and cruel institutions.

[t has been argued that dolphin parks provide the only opportunity for much of the
public to see marine mammals (Smith, 1992). Most Australians, so this argument goes,
live in cities and never get to see these animals. /¢ 7s c/aimed that marine parks
allow the average Australian to appreciate our marine wildlife. However, as Smith
states, dolphins, whales and seals can be viewed in the wild at a number of places
on the Australian coast. /n fact, there are more places where they can be seen in
the wild than places where they can be seen in captivity. Moreover, most Australians
would have to travel less to get to these locations than they would to get to the
marine parks on the Gold Coast. /n addition, places where there are wild marine mammals
do not charge an exorbitant entry fee — they are free.

Dr Alison Lane, the director of the Cairns Marine Science Institute, contends that
we need marine parks for scientific research (The Age, 19.2.93). She argues that much
of our knowledge of marine mammals comes from studies which were undertaken at marine
parks. The knowledge which is obtained at marine parks, so this argument goes, can
be useful for planning for the conservation of marine mammal species. However, as
Jones (1991) exp/ains, park research is only useful for understanding captive animals
and is not useful for learning about animals in the wild. Dolphin and whale biology
changes in marine park conditions. Their diets are different, they have significantly
lower life spans and they are more prone to disease. /n addition, marine mammals in
dolphin parks are trained and this means that their patterns of social behaviour are
changed. Therefore research undertaken at marine parks is generally not reliable.

[t is the contention of the Marine Park Owners Association that marine parks attract
a lot of foreign tourists (The Sun-Herald 12.4.93). 7his position goes on to assert
that these tourists spend a lot of money, increasing our foreign exchange earnings
and assisting our national balance of payments. However, foreign tourists would still
come to Australia if the parks were closed down. /ndeed, surveys of overseas tourists
show that they come here for a variety of other reasons and not to visit places like
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Seaworld (The Age, Good Weekend 16.8.93). Tourists come here to see our native wildlife
in its natural environment and not to see it in cages and cement pools. They can see
animals in those condition in their own countries Furthermore, we should be promoting
our beautiful natural environment to tourists and not the ugly concrete marine park
venues.

Dolphin parks are unnecessary and cruel. The dolphins and whales in these parks are
kept in very small, cramped ponds, whereas in the wild they are used to roaming long
distances across the seas. Furthermore, the concrete walls of the pools interfere
with the animals’ sonar systems of communication. /n addition, keeping them in pools
is a terrible restriction of the freedom of fellow creatures who may have very high
levels of intelligence and a sophisticated language ability. Moreover, there are many
documented cases of marine mammals helping humans who are in danger at sea or helping
fisherman with their work.

[n conclusion, these parks should be closed, or at the very least, no new animals
should be captured for marine parks in the future. Our society is no longer prepared
to tolerate unnecessary cruelty to animals for science and entertainment. If we
continue with our past crimes against these creatures we will be remembered as cruel
and inhuman by the generations of the future.
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Getting an overview of the model essay

On this page you will look closely at the overall structure of the model essay on the previous page so that you can
use the same or a similar structure in the essay you need to complete for your course. (You should print the page
out and write your answers on the printout.)

Task 1: Identifying the main premise, paragraph structure and paragraph topics

Answer the following questions about the model essay.

1. How many paragraphs are in the text?

2. What is the topic of each paragraph. If it is an introduction or a conclusion, just write introduction or
conclusion. (Further on in this unit we will look study how to structure introductions and conclusions.)
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Check your answer here..

Answer to Task 1: Identifying the main premise, paragraph

structure and paragraph topics

1. How many paragraphs are in the text?

2. What 1z the topic of each paragraph. Ifit 15 an mtroduction of a conclusion, just write
intraduction ot conclusion. (Further on i this umt we will look study how to
structure introductions and conclusions.)

1 Introdection

4 In what paragraphs does the writer place histher main premise?
The mpfrodaction and the conclgsion

Task 2: The internal organisation of the paragraphs — revision

Paragraphs 2, 3 and 4 all contain opposing arguments and supporting arguments. The opposing
arguments are problematised and the supporting arguments are presented as non—debatable. You
have already studied this structure in detail earlier in this unit but we will revise it again
here by looking at just one of these paragraphs: the second paragrph. Answer the following

questions about paragraph 2:
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1. Does paragraph 2 begin with statements that support or oppose the writer's main premise?

3. What problematising phrases does the writer use to make these opposing statements appear debatable and
possibly untrue?

4. What connective does the writer use to tell the reader that s/he is shifting from opposing arguments to
supporting arguments?

Check your answer here.

Answer to Task 2: The internal organisation of the paragraphs — revision

1. Dioes paragraph 2 begin with statemnents that suppott or oppose the writer's tmain
premise?

3. What problematising phrases does the writer use to make these opposing statements
appear debatable and possibly untre?



QQ:87222543 tuqiuping@yahoo. com. cn

4. WWhat connective does the writer use to tell the reader that sfhe 12 shifting from

opposing arguments to supporting arguments?
Howerer

5. How many arguments does the writer present in this paragraph that support histher
tnain prefise’?

. What connectives does the writer use to list the supporting arouments in this
paragraph?
L ...as.. sfafes...

Task 3: A paragraph that only presents supporting arguments

Note: Paragraph 5 of the model is very different from paragraphs 2, 3 and 4. The writer begins the paragraph by
restating the main premise - "Dolphin parks are unnecessary and cruel.” Then the writer only presents arguments
that support the main premise. There are no opposing arguments. This is because the writer has already dismissed
the opposing arguments in earlier paragraphs and is now attempting to convince the reader that the main premise is
the best and most correct position on the issue. When you are writing your own essay for your course include one
or more paragraphs which only contain supporting arguments after you have dealt with all the opposing
arguments.

Answer the following questions about paragraph 5:

1. How many different supporting arguments does the writer present in this paragraph?

Check your answer here.

Answer to Task 3: A paragraph that only presents supporting

arguments
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1. How many different supporting arguments does the writer present in this paragraph?

2. What connectives does the writer use to list these arcouments?
I Furthermare

Writing introductions to argumentative essays

You now know how to write the body of an argumentative essay. In the next two sections of this unit you will learn
how to write an introduction and a conclusion.

Introductions are very important. The introduction gives the reader his/her first
impression of the text. The first impression that you are aiming to give the reader
is of a high—quality argumentative text written in a professional, academic style.

Lets look again at the introduction from the model essay on Marine Parks:

The issue of whether we should allow marine parks to stay open has been widely debated in our community
recently. It is an important issue because it concerns fundamental moral and economic questions about the way we
use our native wildlife. A variety of different arguments have been put forward about this issue. This essay will
consider arguments for having marine parks and point to some of the problems with these views. It will then put
forward reasons for the introduction of laws which prohibit these unnecessary and cruel institutions.

Task 1: The four parts of an introduction

A simple introduction to an argumentative assignment has four parts. Read the following
description of the parts. Then circle the sentences in the introduction above which cover each
part and write the number for each part in the margin next to it, e.g. for the first part draw
a circle around the sentence(s) that introduce(s) the topic and write “1” in the margin next
to it.

1. Introduces the topic

2. States why the topic is important

3. States that there is a difference of opinion about this topic
4

. Describes how the assignment will be structured and clearly states the writer's main premise

Check your answer here
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Answer to Task 1: The four parts of an introduction

1 The izsue of whether we should allow tnarine parles to stay open has been mﬁar_‘]
debated in our community recently At is an mmportant issue because it concerns
tundamental moral and econoruc gquestions about the way we use our native Wﬂd]jfe.lg

3 [ wariety of different arguments have been put forward about this issue s essay
constder arguments tor havng manne parks and point to some of the problems with
these wews. It will then put forward reasons for the mtroduction of laws which prohibit
these unnecessary and cruel mstitubions. |

The four parts of an introduction:
1. Introduces the topic
2. States why the topic is important
3. States that there is a difference of opinion about this topic

4. Describes how the assignment will be structured and clearly states the writer's main premise

Task 2: Ordering sentences in an introduction

Now put the following sentences into the correct order. They make up the introduction to an
argumentative essay about the issue of whether Australia should become a republic.

a. As aresult, the issue is a very controversial one and has attracted a lot of debate.
b. 1t will then put forward a number of reasons why Australia should change to a republican form of government.

¢. The question of whether we maintain the monarchy is not merely a legal detail but is intrinsically linked to the
way we perceive ourselves as a distinct nation of people with its own identity and culture.

d. Since the time of federation, Australia has been a constitutional monarchy with the Queen of the United
Kingdom as its head of state.

e. This essay will consider some of the arguments for maintaining the monarch as head of state and will outline
some of the problems with this position.

f. However, today many Australians are questioning whether this form of government is still relevant or
appropriate and are suggesting that we move towards the establishment of a republic.

Check your answer here

Answer to Task 2: Ordering sentences in an introduction

Since the time of federation, Australia has been a constitutional monarchy with the Queen of the United Kingdom
as its head of state. However, today many Australians are questioning whether this form of government is still
relevant or appropriate and are suggesting that we move towards the establishment of a republic. The question of
whether we maintain the monarchy is not merely a legal detail but is intrinsically linked to the way we perceive
ourselves as a distinct nation of people with its own identity and culture. As a result, the issue is a very
controversial one and has attracted a lot of debate. This essay will consider some of the arguments for maintaining
the monarch as head of state and will outline some of the problems with this position. It will then put forward a
number of reasons why Australia should change to a republican form of government.
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Task 3: The four parts of an introduction (again)

Print out the answer to task 2. Then circle the sentences which cover each of the four parts
of argumentative essay introductions and write the number for each part in the margin next
to it, just as you did for the introduction to the marine parks essay in Task 1.

Check your answer here

Answer to Task 3: The four parts of an introduction (again)

since the time of federation, Australia has been a consttutional monarchy with the
Cueen of the Tnited Kingdom as its head of state. However, today many Australians are
1 questioning whether thiz form of government 15 still relevant or appropriate and are
sugzeestng that we move towards the establishment of a republid [The question of
whether we tnaintan the monarchy 12 not merely a legal detad but 15 mirnsically bnled to
the way we percewve ourselves as a distinct nation of people with its own 1dentity and
culture | &z a result, the issue iz a very controversial one and has attracted a lot of )
15 essay will consider some of the arguments for mainfaining the monarch as
head of state and will outhne some of the problems with this posttion. Tt wall then put 4
torward a number of reasons why Australia should change to a republican form of
government.

The four parts of an introduction

1. Introduces the topic
2. States why the topic is important
3. States that there is a difference of opinion about this topic

4. Describes how the assignment will be structured and clearly states the writer's main premise

Writing conclusions to argumentative essays

Conclusions are just as important as introductions. The conclusion closes the essay and tries to close the issue. The
aim is to convince the reader that your essay has covered all the most important arguments about the issue and that
your main premise is the best position on the issue. You should not present any new arguments in your conclusion.

Many students find it difficult to write a conclusion. By this time they may have
done so much work on the body of the essay that they just want to finish the essay
off as quickly as possible and so they write a rushed and badly written conclusion.
But the conclusion is the last part of the essay that your reader will see. Spend
some time on carefully writing the conclsuion so that you give your reader a good
final impression of your essay.

Lets look again at the conclusion from the model essay on Marine Parks:
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In conclusion, these parks should be closed, or at the very least, no new animals should be captured
for marine parks in the future. Our society is no longer prepared to tolerate unnecessary cruelty to
animals for science and entertainment. If we continue with our past crimes against these creatures we
will be remembered as cruel and inhuman by the generations of the future.

Task 1: The three parts of a conclusion

A simple introduction to an argumentative assignment has three parts. Read the following
description of the parts. Then circle the sentences in the conclusion above which cover each
part and write the number for each part in the margin next to it, e.g. for the first part draw
a circle around the sentence(s) that restate(s) the main premise and write “1” in the margin
next to it.

The three parts to a conclusion:

1. Restates the main premise

2. Presents one or two general sentences which accurately summarise your arguments which support
the main premise

3. Provides a general warning of the consequences of not following the premise that you put forward
and/or a general statement of how the community will benefit from following that premise

Check your answer here

Answer to Task 1: The three parts of a conclusion

1 conclusion, these parkes should be closed, or at the very least, no ne
animals should be captured for marine parks in the future [Our society s no] 2
flon\ger prepared to tolerate unnecessary cruelty to ammals for science and
entertatment |[Fwe contie with our past crimes against these creatures we

will be remembered as cruel and mhuman by the generations of the fture.

The three parts to a conclusion:
1. Restates the main premise

2. Presents one or two general sentences which accurately summarise your arguments which support
the main premise

3. Provides a general warning of the consequences of not following the premise that you put forward
and/or a general statement of how the community will benefit from following that premise

Task 2: Ordering sentences in a conclusion

Now put the following sentences into the correct order. They make up the conclusion to another
argumentative essay. The main premise of this essay is that the government should spend more
money on childcare places for the children of parents who study or work.
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a. If we fail to meet our obligations in this area, we will be sacrificing our present and future well-being merely in
order to appease out-dated notions of family life and to achieve short-term financial savings.

b. In conclusion, it is essential that we support the nation's parents and children by funding more childcare places.

c. Only in this way can we provide the valuable learning environments that young Australians need while, at the
same time, utilising the skills of all productive members of our society.

d. The entire national community will then be enriched economically, socially and culturally.

Check your answer here

Answer to Task 2: Ordering sentences in a conclusion

In conclusion, it is essential that we support the nation's parents and children by funding more childcare places.
Only in this way can we provide the valuable learning environments that young Australians need while, at the
same time, utilising the skills of all productive members of our society. The entire national community will then be
enriched economically, socially and culturally. If we fail to meet our obligations in this area, we will be sacrificing
our present and future well-being merely in order to appease out-dated notions of family life and to achieve
short-term financial savings.

Task 3: The three parts of a conclusion (again)

Print out the answer to task 2. Then circle the sentences which cover each of the three parts
of argumentative essay conclusions and write the number for each part in the margin next to
it, just as you did for the conclusion to the marine parks essay in Task 1.

Check your answer here

Answer to Task 1: The three parts of a conclusion (again)

1 {In conclusion, it 15 essenfial that we support the nation's parents and cluldren by finding
more childcare placelel'Onlj.r i this way can we prowvide the waluable learmng
environtments that voung Australians need while, at the same time, utiising the skills of all 2
Lpro ductive members of our sociﬂyf The entire national community will then be ennched
econommically, socially and culturally. If we fail to meet our obligations in this area, we will
be sacrificing our present and fiature well-being merely m order to appease out-dated
notions of farmly kfe and to achieve short-term financial sawvngs.

The three parts to a conclusion:
1. Restates the main premise

2. Presents one or two general sentences which accurately summarise your arguments which support
the main premise

3. Provides a general warning of the consequences of not following the premise that you put forward
and/or a general statement of how the community will benefit from following that premise

Writing your own argumentative essay
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You should now be ready to write your own argumentative essay. This page sets out a procedure for preparing and
writing your essay. There are 13 steps in this procedure. If you follow all the steps closely you should be able to
complete your essay.

This procedure assumes that you already have an issue which you were given by your
teacher, tutor or lecturer to write about and that you have completed reading all
the articles and books that you need to read about your issue.

1. Go over all the reading material again.

2. ldentify the main topics covered by the arguments that you have read about your issue when preparing for your
essay. This is so that you have a list of different topics for your paragarphs such as the topics in the essays on
marine parks and childcare . You might also want to go back and look at the page on sorting arguments into
topics and paragraphs.

3. Now use the topics that you have identified in step 2 as your group headings for organising your research notes
(the notes from your reading):

a. Go over the reading material again and look for the main arguments that concern each of these
topics

b. Divide these arguments into those that are for your issue and those that are against your issue in a
table like the one below. Remember to:

i keep your notes brief

ii do not write the argument down word for word. Paraphrase it or use note form. This
way you will avoid plagiarism when you come to write the actual essay.

Example table for your notes:

Topic: health arguments about <your issue >

Arguments for <your issue > ‘ Arguments against <your issue >

|
|
|
|
|

4. Make a decision about what your main premise will be.

5. Look back at the paragraph structure for the model essays on marine parks (here and here) and childcare .

6. Now draft a detailed plan for your essay. In this plan note down the information that you will put in each
paragraph. Remember, just use note form - not complete sentences (Otherwise your plan will be nearly as big as
your essay!)

7. Begin writing a draft of the body of the body of your essay. Before you start this step you should:

a. Look again at the model essays about marine parks and childcare.

b. Go back and look at the work we did earlier in this unit on showing both sides of the issue.

c. Look again at the work we studied on using problematising phrases for opposing arguments and
the_language summary for problematising phrases.
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d. Go back and look at the work we did on using contrasting connectives to shift from opposing
arguments to supporting arguments.

e. Look again at the work we did earlier in this unit on connectives for listing supporting arguments.

e. Go back and look at the work we did earlier in this unit on using_"In fact" and "Indeed". to link
general and specific sentences that deal with the same argument.

f. Print out a copy of the language summary for paragraph structures in the body of an essay and use
it to help you write your pargarphs.

You might also wish to go back and look at some of the complete paragraphs we have studied earlier in this unit:
a. Childcare

b. The republic
C. Another paragraph on the republic

d. University fees

e. Guns
8. When you have written a draft of the body of your text check the following things:

a. do your paragraphs present arguments which oppose your main premise as debatable and possibly
not true?

b. do your paragraphs present arguments which support your main premise as non-debatable or as
facts?

c. have you clearly marked the place where you shift from the opposing arguments to the supporting
arguments with a contrasting connective (such as "however")?

d. Have you used connectives, pronouns and referencing words (such as "this" or "these" to make
your paragraph cohesive?

9. Draft your introduction. You might want to go back and look carefully at the introduction to the essay on
marine parks and the model introduction about republicanism.

10. Draft your conclusion. You might want to go back and look carefully at the conclusion to the essay on marine
parks and the model conclusion about childcare.

11. Check your draft introduction and conclusion against the models. Redraft if necessary.
12. Now that you have a complete draft of your essay check it again for the following things:
a. Does it conform with the model texts?
b. Does it provide strong support for your main premise?
c¢. Can you make the text more cohesive?
d. Are your verbs correct?
e. Is every sentence a complete sentence - does it have a subject and a verb?

f. Is your spelling correct? (Use the spelling checker on your word processing programme and also
read for spelling errors that the spelling checker doesn't pick up)

g. Is your punctuation correct?

h. Have you plagiarised? If you have plagiarised, rewrite that part of your text or indicate that you
have copied from another text by using quotation marks and citing the source of the text eg.
(Mansell, 1993)

13. Check the final draft and write a cover sheet.

Congratulations .....now you've finished your argumentative essay!
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Appendix 1

Language summary: structure of paragraphs in the body of an

argumentative essay

X = another writer on this issue Y = a premise

who you are citing

Stage Language to use at this stage
1. Give the most general statement about the asserts
opposing position on this topic. Attach a
problematising phrase to the statement to make it contends
appear debatable and possibly untrue. X maintains that....
argues
claims
has been asserted
is contended
It could be maintained that....
might be argued
may be claimed
assertion
. contention
Itis the of X that ....
argument
claim
. in support of
assertions
in favour of
supporting )
One of the contentions Y is that....
for
opposing
arguments
against
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One
A common ObjeCtion toYisthat...
A frequently heard
2. Expand or develop that opposing position. Attach argued
a problematising phrase to each further opposing
argument to make it appear debatable and also claimed
possibly untrue. asserted
Itis that ....
maintained
further contended
said
.... SO this argument goes .....
argue
contend
This position goes on to further claim that ....
maintain
assert
3. Signal that you are shifting to arguments that However
support your main premise ...
... and begin with a general supporting argument explains
on the topic of the paragraph drawn (preferably)
from an authoritative published source - as X states
shows
4. Expand and develop the arguments on this Moreover
paragraph topic that support your main premise
In addtion, | e

Furthermore,
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